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le; : 2
2
1  ?k.Vs ] [ iw.kk±d : 80 ¼Hkkx¼Hkkx¼Hkkx¼Hkkx–I : 40,    HkkxHkkxHkkxHkkx–II : 40½½½½  

Time allowed : 2
2
1  hours ] [ Maximum Marks : 80 (Part–I : 40, Part–II : 40) 

iz'u&i= nks Hkkxkas eas foHkkftr gS % Hkkxiz'u&i= nks Hkkxkas eas foHkkftr gS % Hkkxiz'u&i= nks Hkkxkas eas foHkkftr gS % Hkkxiz'u&i= nks Hkkxkas eas foHkkftr gS % Hkkx–I    ¼vkRefu"B½ ,oa¼vkRefu"B½ ,oa¼vkRefu"B½ ,oa¼vkRefu"B½ ,oa    HkkxHkkxHkkxHkkx–II    ¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas ¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas ¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas ¼oLrqfu"B½A ijh{kkFkhZ dks nksuksa Hkkxkas ds iz'ukas 
ds mÙkj dksds mÙkj dksds mÙkj dksds mÙkj dks    viuhviuhviuhviuh    mÙkjmÙkjmÙkjmÙkj-iqfLrdk eas fy[kuk gSA iz'u&i= dk HkkxiqfLrdk eas fy[kuk gSA iz'u&i= dk HkkxiqfLrdk eas fy[kuk gSA iz'u&i= dk HkkxiqfLrdk eas fy[kuk gSA iz'u&i= dk Hkkx–I    ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk ijh{kk vkjEHk gksus ij igys mÙkj&iqfLrdk 
ds lkFk fn;k tk,xk rFkk ds lkFk fn;k tk,xk rFkk ds lkFk fn;k tk,xk rFkk ds lkFk fn;k tk,xk rFkk HkkxHkkxHkkxHkkx–II    ds fy, vkf[kjh dk ,d ?kaVs dk le; fn;k tk,xkds fy, vkf[kjh dk ,d ?kaVs dk le; fn;k tk,xkds fy, vkf[kjh dk ,d ?kaVs dk le; fn;k tk,xkds fy, vkf[kjh dk ,d ?kaVs dk le; fn;k tk,xk    vFkkZrvFkkZrvFkkZrvFkkZr~~ ~~    ijh{ijh{ijh{ijh{kk lekIr gksus kk lekIr gksus kk lekIr gksus kk lekIr gksus 
ls ,d ?kaVk iwoZ ijh{kkFkhZ dks Hkkxls ,d ?kaVk iwoZ ijh{kkFkhZ dks Hkkxls ,d ?kaVk iwoZ ijh{kkFkhZ dks Hkkxls ,d ?kaVk iwoZ ijh{kkFkhZ dks Hkkx–II    dk iz'udk iz'udk iz'udk iz'u-i= fn;k tk,xkAi= fn;k tk,xkAi= fn;k tk,xkAi= fn;k tk,xkA    

HkkxHkkxHkkxHkkx–I    ds iz'u&i= esa dqy ds iz'u&i= esa dqy ds iz'u&i= esa dqy ds iz'u&i= esa dqy 12    iz'u ,oa Hkkxiz'u ,oa Hkkxiz'u ,oa Hkkxiz'u ,oa Hkkx–II    ds iz'u&i= eas dqy ds iz'u&i= eas dqy ds iz'u&i= eas dqy ds iz'u&i= eas dqy 40    iz'u gSaAiz'u gSaAiz'u gSaAiz'u gSaA    

Question paper is divided into two Parts : Part–I (Subjective type) and Part–II 

(Objective type). Answer the questions of both parts in your answer-book. Part–I 

of question paper with answer-book will be provided with starting of 

Examination and last one hour of Examination will be given for Part–II i.e. 

question paper of Part–II will be provided before one hour of the end of 

Examination. 

Total questions in question paper of Part–I are 12 and of Part–II are 40. 

•••• Ñi;k tk¡p dj ysa fd HkkxHkkxHkkxHkkx–I ds bl iz'u-i= esa eqfnzr i`"B 8 rFkk iz'u 12 gSaA  
 Please make sure that the printed pages in this question paper of Part–I are 8 in 

number and it contains 12 questions. 
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GRAPH 
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• iz'u-i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 

 The Code No. and Set on the right side of the question paper should be written by 

the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fdlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fdlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fdlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA;k tk;sxkA;k tk;sxkA;k tk;sxkA 

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %        

 (i) bl iz'u-i= esa 12 iz'u gSa] tks fd rhurhurhurhu [k.Mksa % v] c v] c v] c v] c vkSj l l l l esa ck¡Vs x, gSa % 

  [k.M ^v* %[k.M ^v* %[k.M ^v* %[k.M ^v* %    bl [k.M esa 1 ls 6 rd dqy N%N%N%N% ç'u gSaA çR;sd ç'u  2 vadksa dk gSA 

  [k.M ^c* %[k.M ^c* %[k.M ^c* %[k.M ^c* %    bl [k.M esa 7 ls 10 rd dqy ppppkkkkjjjj ç'u gSaA çR;sd ç'u 4 vadksa dk gSA 

  [k.M ^l* %[k.M ^l* %[k.M ^l* %[k.M ^l* %    bl [k.M esa 11 ,oa 12 dqy nksnksnksnks ç'u gSaA çR;sd ç'u 6 vadksa dk gSA 

 (ii) lHkh lHkh lHkh lHkh ç'u vfuok;Z gSaAç'u vfuok;Z gSaAç'u vfuok;Z gSaAç'u vfuok;Z gSaA 
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 (iii) [k.M[k.M[k.M[k.M ^̂̂̂llll* * * * ds    nksuksa    ç'uksa esa vkarfjd fodYi fn;s x;s gSa] muesa ls ,d,d,d,d gh iz'u dks pquuk gSA 

 (iv) fn;s x;s xzkQ-isij dks viuh mÙkj-iqfLrdk ds lkFk vo';vo';vo';vo'; uRFkh djsaA 

 (v) xzkQ-isij ij viuh mÙkj-iqfLrdk dk Øekad vvvvo';o';o';o'; fy[ksaA 

 (vi) dSYD;qysVj ds ç;ksx dh vuqefr ugha ugha ugha ugha gSA 

General Instructions :  

 (i) This question paper consists of 12 questions which are divided into three 

Sections : A, B and C  : 

  Section 'A' : This Section consists of six questions from 1 to 6. Each question 

carries 2 marks. 

  Section 'B' : This Section consists of four questions from 7 to 10. Each question 

carries 4 marks. 

  Section 'C' : This Section consists of two questions 11 & 12. Each question 

carries 6 marks. 

 (ii) All questions are compulsory. 

 (iii) Section 'C' contains both questions where internal choice have been provided. 

Choose one of them.  

 (iv) You must attach the given graph-paper along with your answer-book. 

 (v) You must write your Answer-book Serial No. on the graph-paper.  

 (vi) Use of Calculator is not permitted. 
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[k.M[k.M[k.M[k.M    –    vvvv    

SECTION – A 

1. ;fn xxy
1sin−

= , rks 
dx

dy  Kkr dhft,A  2 

If xxy
1sin−

= , then find 
dx

dy
. 

2. ;fn xx eey 24 32 += , rks n'kkZb, 086
2

2

=+− y
dx

dy

dx

yd A 2 

If xx eey 24 32 += , then show that 086
2

2

=+− y
dx

dy

dx

yd
. 

3. vody lehdj.k xy
dx

dy
tan=  dks gy dhft, ;fn x = 0, y = 1A 2 

Solve the differential equation : xy
dx

dy
tan=  if x = 0, y = 1.   

4. ,d fMCcas esa 100 cYc gSa ftlesa 10 cYc =qfViw.kZ gSaA ;fn fMCcs ls 5 cYc dk ;kn`fPNd U;kn'kZ 

(Sample) fy;k tk;s] rks mlesa 1 cYc ds =qfViw.kZ gksus dh izkf;drk Kkr dhft,A 2 

A box contains 100 bulbs out of which 10 are defective. In a random sample of 

5 bulbs taken from the box, find the probability of having 1 defective bulb.  
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5. lfn'k ar  dk b
r
 ij iz{ksi (projection) Kkr dhft,] tgk¡ kjia ˆ3ˆ2ˆ +−=

r
 vkSj kjib ˆˆ2ˆ3 +−=

r
. 2 

Find the projection of vector a
r
 on b

r
, where kjia ˆ3ˆ2ˆ +−=

r
 and kjib ˆˆ2ˆ3 +−=

r
. 

6. λ ds fdl eku ds fy;s lery 722 =−+ zyx  vkSj 423 =+λ− zyx  ,d-nwljs ds yEc gSaA 2 

For what value of λ the planes 722 =−+ zyx  and 423 =+λ− zyx  are 

perpendicular to each other. 

[k.M[k.M[k.M[k.M    –    cccc    

SECTION – B 

7. ftl varjky esa Qyu 73632)( 23 +−−= xxxxf  fujarj o/kZeku (Strictly increasing) gS] 

og varjky Kkr dhft,A 4 

Find the interval in which the function 73632)( 23 +−−= xxxxf  is strictly 

increasing. 

8. o`Ùk 222 ayx =+  dk {ks=Qy Kkr dhft,A 4 

Find the area enclosed by the circle 222 ayx =+ . 

9. js[kkvksa )ˆˆˆ()ˆˆ2ˆ( kjikjir +−λ+++=
r

 vkSj )ˆ2ˆˆ2(ˆˆˆ2 kjikjir ++µ+−−=
r  ds chp dh U;wure 

nwjh Kkr dhft,A  4 

Find the shortest distance between the lines )ˆˆˆ()ˆˆ2ˆ( kjikjir +−λ+++=
r

 and 

)ˆ2ˆˆ2(ˆˆˆ2 kjikjir ++µ+−−=
r

. 
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10. ,d FkSys esa 2 yky vkSj 5 lQsn xsansa gSa tcfd nwljs FkSys esa 4 yky vkSj 3 lQsn xsansa gSaA ,d FkSyk 

;kn`PN;k pqudj mlesa ls ,d xsan fudkyh tkrh gSA ;fn og xsan yky gS] rks mlds igys FkSys ls gksus 

dh izkf;drk Kkr dhft,A  4 

Bag Ist contains 2 red and 5 white balls. Bag IInd contains 4 red and 3 white 

balls. A bag is chosen at random and a ball is drawn from it. If the ball drawn 

is red, find the probability that this ball is drawn from Ist bag.  

[k.M[k.M[k.M[k.M    –    llll    

SECTION – C 

11. çnf'kZr dhft, dh vkO;wg 







=

21

32
A  lehdj.k 042 =+− IAA  tgk¡ I, 2 × 2 dksfV dk ,d 

rRled vkO;wg gS vkSj O, 2 × 2 dksfV dk ,d 'kwU; vkO;wg gSA bldh lgk;rk ls 1−A  Kkr dhft,A  

6 

Show that the matrix 







=

21

32
A  satisfies the equation 042 =+− IAA  where I 

is , 2 × 2 identity matrix and O is 2 × 2 zero matrix. Using this equation, find 
1−A . 

vFkokvFkokvFkokvFkok    

OR 
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fuEufyf[kr lehdj.kksa dks vkO;wg fof/k ls gy dhft, % 6 

4=+− zyx ;  

032 =−+ zyx ;  

2=++ zyx  

Solve the following equations by Matrix method : 

4=+− zyx ; 

032 =−+ zyx ; 

 2=++ zyx  

12. fuEufyf[kr vojks/kksa ds vUrxZr yxZ 23 +=  dk vf/kdrehdj.k dhft, % 6 

,2042 ≤+ yx   

,153 ≤+ yx   

0, ≥yx  

Maximize : yxZ 23 += subject to the constraints : 

,2042 ≤+ yx  

,153 ≤+ yx   

0, ≥yx  
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vFkokvFkokvFkokvFkok    

OR 

vojks/kksa  % 0,0,102,82 ≥≥≥+≥+ yxyxyx ds vUrxZr yxZ 75 +=  dk U;wurehdj.k 

dhft,A  6 

Minimize : yxZ 75 +=   under the constraints :  

0,0,102,82 ≥≥≥+≥+ yxyxyx . 

S 
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CLASS : 12th (Sr. Secondary) Code No. 5631 
Series : SS-April/2021 
Roll No.           

xf .k rxf .k rxf .k rxf .k r     
MATHEMATICS 

HkkxHkkxHkkxHkkx – II 
PART – II 

¼¼¼¼ oLr qfu "BoLr qfu "BoLr qfu "BoLr qfu "B     iz'u½iz'u½iz'u½iz'u½ 
(Objective Questions) 

ACADEMIC/OPEN 

[ fgUnh ,oa vaxzsth e k/;e ] 

[ Hindi and English Medium ] 

(Only for Fresh/Re-appear Candidates) 

•••• Ñi;k t k¡p dj ysa fd Hkk xHkk xHkk xHkk x–II ds bl iz'u-i= e sa e qfnzr i`"B 16 rFkk iz'u 40 gSaA 
 Please make sure that the printed pages in this question paper of Part-II are 16 in 

number and it contains 40 questions. 

•••• ijh{kkFkhZ viuk jksy  u a0 iz'u& i= ij vo'; fy[ksaA 
 Candidates must write their Roll Number on the question paper. 

•••• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj y sa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl ijh{kk ds m ijkUr bl 
lEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkAlEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkAlEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkAlEc U/k e sa d ksbZ Hkh nkok L ohdkj u gha fd; k tk;sxkA 

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %lkekU; fu nsZ'k  %     

General Instructions : 

    (i)    lHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaAlHk h iz'u vfuok; Z gSaA     

        All questions are compulsory.    

    (ii) iz'u Øe kad 1 ls 40 rd oLrqfu"B iz'u gSaA izR;sd iz'u 1 vad dk gSA  

  Questions from 1 to 40 are objective type questions. Each question is of 1 

mark. 

SET : A 
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1. ,d laca/k rqY; laca/k dgykrk gS ;fn og dsoy vkSj d soy  fuEu xq.kksa dks larq"V djrk gS % 1 

(A) LorqY; (B) lefer 

(C) laØfe r (D) lHkh rhuksa 

A relation is said to be equivalence relation if and only if it satisfies the 

property : 

(A) Reflexive (B) Symmetric 

(C) Transitive (D) All of the three 

2. ;fn Qy u f : R →[4, ∞), f(x) = 2x + 4 } kjk ifjHkkf"kr gS]  rks mldk O;qRØe Qyu )(1 xf −  gS % 1 

(A) 4−x  (B) 
4

1

2 +x
 

(C) 42 −x  (D) bu esa ls dksbZ ugha 

If f : R →[4, ∞) is given by f(x) = 2x + 4, then )(1 xf −  is given by : 

(A) 4−x  (B) 
4

1

2 +x
 

(C) 42 −x  (D) None of these 

3. ;fn * ,d N ij ifjHkkf"kr f} vk/kkjh lafØ;k gS t gk¡ a * b = a vkSj b dk LCM, rks lafØ;k * gS % 1 

(A) dsoy  Ø efofu es;   

(B) dsoy  lkgp;Z 

(C) Øefofue s; vkSj lkgp;Z 

(D) bu esa ls dksbZ ugha 
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If * is a binary operation defined on N, is given by a * b = LCM of a and b, then 

* is : 

(A) Commutative only  

(B) Associative only 

(C) Commutative & Associative 

(D) None of these 

4. 







−− −−

2

1
cos3tan 11  d k eku gS % 1 

(A) 
3

π
−   (B) 

3

π
 

(C) 
3

2π
  (D) π 









−− −−

2

1
cos3tan 11  is equal to : 

(A) 
3

π
−   (B) 

3

π
 

(C) 
3

2π
  (D) π 

5. 1||,

1

1
tan

2

1 >
−

− x

x

 cjkcj gS %  1 

(A) x1sec−  (B) x1eccos −  

(C) x1sin−  (D) bu esa ls dksbZ ugha 
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1||,

1

1
tan

2

1 >
−

− x

x

 is equal to : 

(A) x1sec−  (B) x1eccos −  

(C) x1sin−  (D) None of these  

6. ;fn A vkSj B nks m × n dksfV ds vkO;wg gSa] rks AB lEHko gS]  ;fn % 1 

(A) m < n (B) m > n 

(C) m = n (D) bu esa ls dksbZ ugha 

If A and B are two matrices of order m × n. Product AB is possible, if : 

(A) m < n (B) m > n 

(C) m = n (D) None of these 

7. ;fn A vkSj B nks leku dksfV ds O;qRØe .kh; (Invertible) vkO;wg gSa] rks fuEu fyf[kr esa dkSu-lk lR;lR;lR;lR;  

gS \     1 

(A) 111)( −−− +=+ BABA  

(B) 111)( −−− −=− BABA  

(C) 111)( −−− = BAAB  

(D) 111)( −−− = ABAB  
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If A and B are two invertible matrices of same order, then which of the 

following is always true ? 

(A) 111)( −−− +=+ BABA  (B) 111)( −−− −=− BABA  

(C) 111)( −−− = BAAB  (D) 111)( −−− = ABAB  

8. x dk e ku ftlls 
15

42

6

42
=

x

x
 gS]  og gS %   1 

(A) 1  (B) 3±  

(C) lEHko ugha (D) bu esa ls dksbZ ugha 

The value of x for which 
15

42

6

42
=

x

x
 is : 

(A) 1  (B) 3±  

(C) Not possible (D) None of these 

9. ;fn Qy u 
3,53

3,1
)(

>−

≤+
=

xx

xkx
xf , x = 3 ij lr r Qyu gS]  rks k dk e ku gS %  1 

(A) 3  (B) 2 

(C) 1  (D) bu esa ls dksbZ ugha 

The function 
3,53

3,1
)(

>−

≤+
=

xx

xkx
xf  is continuous at x = 3, then value of k is : 

(A) 3  (B) 2 

(C) 1  (D) None of these 
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10. ;fn 
2)53( += xey , rks 

dx

dy  d k eku gS %   1 

(A) 
2)53( +xe   

(B) )53(6
2)53( ++ xe x  

(C) )53(2
2)53( ++ xe x  

(D) bu esa ls dksbZ ugha 

If 
2)53( += xey , then 

dx

dy  is : 

(A) 
2)53( +xe   

(B) )53(6
2)53( ++ xe x  

(C) )53(2
2)53( ++ xe x  

(D) None of these 

11. ijoy; axy 42 =  dh fcU nq )2,( 2 atat  ij ço .krk gS % 1 

(A) t  (B) 
t

1
 

(C) −t  (D) 
t

1
−  

The slope of the tangent to the parabola axy 42 =  at the point )2,( 2 atat  is : 

(A) t  (B) 
t

1
 

(C) −t  (D) 
t

1
−  
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12. ∫ dxxx )sin(2 2  dk e ku gS %   1 

(A) cx +2sin  

(B) cxx +)cos( 22  

(C) cx +− )cos( 2  

(D) bu esa ls dksbZ ugha 

∫ dxxx )sin(2 2  is equal to : 

(A) cx +2sin   

(B) cxx +)cos( 22  

(C) cx +− )cos( 2  

(D) None of these 

13. ∫
+

1

0
21 x

dx
 dk e ku gS % 1 

(A) 
4

π
  (B) −

4

π
 

(C) 
2

π
  (D) bu esa ls dksbZ ugha 
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∫
+

1

0
21 x

dx
 is : 

(A) 
4

π
  (B) −

4

π
 

(C) 
2

π
  (D) None of these 

14. oØ yx =2 , x-v{k vkSj x = 0, x = 1 ds chp ds {ks= dk {ks=Q y gS % 1 

(A) 1  (B) 2 

(C) 
3

1
  (D) 

3

2  

Area bounded by the curve yx =2 , x-axis and from x = 0, x = 1 is : 

(A) 1  (B) 2 

(C) 
3

1
  (D) 

3

2
 

15. y = mx tgk¡ m ,d  LosPN vpj gS]  mldk vody le hdj.k gS % 1 

(A) x dy − y dx = 0  

(B) x dy + y dx = 0 

(C) x dx − y dy = 0 

(D) x dx + y dy = 0 
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The differential equation of the family of curves y = mx, m is arbitrary, is : 

(A) x dy − y dx = 0  

(B) x dy + y dx = 0 

(C) x dx − y dy = 0 

(D) x dx + y dy = 0 

16. ;fn E vkSj F Lora= ?kVu k,¡ gSa] rks fu Eu esa ls dkSu-lk lR; u ghau ghau ghau gha   gS \ 1 

(A) P (E/F) = P (E)  

(B) P (E/F) P (F) = P (E ∩ F) 

(C) P (E/F) = P (F)  

(D) P (E ∩ F) = P (E) . P (F) 

If E and F are independent events, then which of the following is not  true ? 

(A) P (E/F) = P (E)  

(B) P (E/F) P (F) = P (E ∩ F) 

(C) P (E/F) = P (F)  

(D) P (E ∩ F) = P (E) . P (F) 
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17. λ dk eku ft lds fy, kjia ˆ2ˆ3ˆ2 ++=
→

 lfn'k kjib ˆ2ˆˆ +λ−=
→

 ds y Ecor gS] og gS % 1 

(A) 3  (B) 2 

(C) −3  (D) bu esa ls dksbZ ugha 

The value of λ for which kjia ˆ2ˆ3ˆ2 ++=
→

 is perpendicular to kjib ˆ2ˆˆ +λ−=
→

, is : 

(A) 3  (B) 2 

(C) −3  (D) None of these 

18. ;fn ,d js[kk x-v{k ls 60°, y-v{k ls 30° dks.k cukrh gS] rks og z-v{k ls tks dks.k cuk,xh] og gS % 1 

(A) 45°  (B) 60° 

(C) 90°  (D) bu esa ls dksbZ ugha 

If a line makes an angle 60° with x-axis, 30° with y-axis, then the angle made 

by the line with z-axis is : 

(A) 45°  (B) 60° 

(C) 90°  (D) None of these 

19. ;fn x = 4t, 
t

y
4

= , rc =
dx

dy  %   1 

(A) 
t

1
  (B) 

2

1

t
 

(C) 
2

1

t
−   (D) bu esa ls dksbZ ugha 
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If x = 4t, 
t

y
4

= , then =
dx

dy  % 

(A) 
t

1
  (B) 

2

1

t
 

(C) 
2

1

t
−   (D) None of these  

20. ∫ dxx2tan dk eku gS %    1 

(A) cotx − x + c (B) tanx − x + c 

(C) secx − x + c (D) bu esa ls dksbZ ugha 

∫ dxx2tan  is : 

(A) cotx − x + c (B) tanx − x + c 

(C) secx − x + c (D) None of these 

21. 0
23

2

2

=







+















dx

dy

dx

yd
y  vodyu lehdj.k d h ?kkr gS % 1 

(A) 3  (B) 2 

(C) 1  (D) bu esa ls dksbZ ugha 

The degree of differential equation : 0
23

2

2

=







+















dx

dy

dx

yd
y  is : 

(A) 3  (B) 2 

(C) 1  (D) None of these 
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22. laca/k tks leqPp; {1, 2, 3} ij ifjHkkf"kr gS vkSj R = {(1, 2), (2, 1)} gS] og gS -----------A 1 

¼LorqY;]  lefer] laØfe r½ 

The relation on the set {1, 2, 3} given by R = {(1, 2), (2, 1)} is …………. . 

(Reflexive, Symmetric, Transitive) 

23. )1(tan 1 −−  dk e q[; e ku gS --------------A   1 

Principal value of )1(tan 1 −−  is ………… . 

24. ;fn yx =−1sin ] rks %   1 

(A) 0 ≤ y ≤ π (B) 
2

π
−  ≤ y ≤ 

2

π
 

(C) 0 < y < π (D) 
2

π
−  < y < 

2

π
 

If yx =−1sin , then : 

(A) 0 ≤ y ≤ π (B) 
2

π
−  ≤ y ≤ 

2

π
 

(C) 0 < y < π (D) 
2

π
−  < y < 

2

π
 

25. ;fn 








αα

α−α
=

cossin

sincos
A , rks AA ′  = ---------A  1 

 ¼'kwU; vkO ;wg] rRled(Identity)] fo"ke le fer vkO;wg½ 

If 








αα

α−α
=

cossin

sincos
A , then AA ′= ……………. . 

 (Zero matrix, Identity, Skew Symmetric matrix) 
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26. ;fn |A| ,d 3 × 3 vkO;wg dk lkjf.kd gS vkSj |A| = 4, rks |2A| dk eku gS ----------A 1 

(8, 12, 16, 32) 

If |A| = 4 and |A| is a determinant of matrix of order 3 × 3, then the value of 

|2A | is ……….. .   (8, 12, 16, 32) 

27. ;fn Qy u 
0,

0,
2sin

)(
=

≠
=

xk

x
x

x
xf ,  x = 0 ij lrr gS]  rks k dk e ku gS -----------A 1 

If 

0,

0,
2sin

)(

=

≠
=

xk

x
x

x
xf ,  x = 0 is in radians, then for continuity of f(x) at x = 0, 

then value of k is ………….. .  

28. ∫ + dxxxe x )cos(sin  cjkcj gS ………A    1 

∫ + dxxxe x )cos(sin  is equal to ……….. . 

29. ;fn ,d U;k¸; flDd s dks 8 ckj mNky k tkrk gS] rks B hd 6 ckj vku s dh çkf;drk gS ………A 1 

If a fair coin is tossed 8 times, the probability of getting exactly 6 heads          

is …………… . 

30. eku yhft, fd le qPp; N esa R = {(a, b) : a = b − 2, b > 6} }kjk çnÙk laca/k R gS] fuE ufyf[kr 

esa ls lghlghlghlgh mÙkj pqfu , %  1 

(A) (2, 4) ∈ R (B) (3, 8) ∈ R 

(C) (6, 8) ∈ R (D) (8, 7) ∈ R 
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Let R be the relation in the set N given by R = {(a, b) : a = b − 2, b > 6}. Choose 
the correct answer : 

(A) (2, 4) ∈ R (B) (3, 8) ∈ R 

(C) (6, 8) ∈ R (D) (8, 7) ∈ R 

31. 
2

1
sin 1−  dk eq[; eku gS ---------A   1 

The principal value of 
2

1
sin 1−  is ………. . 

32. |Adj A| d k eku D;k gksxk ;fn |A|= 5 vkSj A ,d 3 × 3 dksfV dh vkO;wg gS \  1 

What is the value of |Adj A| if |A|= 5 where A is matrix of order 3 × 3 ? 

33. ;fn 10022 =++ yxyx , rks 
dx

dy
 K kr dhft,A  1 

If 10022 =++ yxyx , then find 
dx

dy
. 

34. varjky [0, π] esa sin x + cos x dk mPpre eku Kkr dhft,A 1 

Find maximum value of sin x + cos x in the interval [0, π].  

35. eku Kkr dhft, %   1 

∫ +
dx

x

x

cos1

sin2
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Evaluate : 

∫ +
dx

x

x

cos1

sin2
 

36. eku Kkr dhft, %   1 

∫
−

dx
x 9

1
2

 

Evaluate : 

∫
−

dx
x 9

1
2

 

37. nh?kZo`Ùk 44 22 =+ yx  ds ,d prqFkkZa'k dk {ks= Qy Kkr dhft,A 1 

Find the area of the quadrant of an ellipse 44 22 =+ yx . 

38. ;fn A vkSj B dh izkf;drk,¡ Øe'k% 
4

1
 vkSj 

2

1  gSaA ;fn A vkSj B Lora= ?kVuk,¡ gSa] rks P(A∪B) 

Kkr dhft,A    1 

Probability of events A and B are 
4

1
 and 

2

1  respectively. If A and B are 

independent events, then find P(A∪B).  

39. ;fn kjia ˆ3ˆˆ2 ++=
r

 vkSj kjib ˆ2ˆ5ˆ3 −+=
r

, rks )(
→→

× ba  K kr dhft,A 1 

If kjia ˆ3ˆˆ2 ++=
r

 and kjib ˆ2ˆ5ˆ3 −+=
r

, then find )(
→→

× ba . 
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40. ;fn 
3

2
||,3|| ==

→→
ba  vkSj →

a ×
→
b  ,d  bdkbZ lfn'k gS]  rks →

a  vkSj →
b  ds chp dk dks.k 

Kkr dhft,A    1 

If 
3

2
||,3|| ==

→→
ba  and 

→
a ×

→
b  is a unit vector, then find angle between        

→
a  and →

b . 

S 
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